What is a “Sudoku”?

The World Sudoku Championships consist of Sudoku and variations of Sudoku. The Classic form of
Sudoku is that each row, column and 3x3 outlined box must contain all digits from 1-9. A variant of Sudoku
typically has similar constraints for 'row, column and outlined region' along with some additional
concept/property/constraint.

The selection of puzzles for the WSC and general organization is at the discretion of the host country. The
organizers of WSPC 2017 believe that a Sudoku variant can lean towards a Sudoku or a Puzzle based on
the manipulation of the author, regardless of the nature of the rule-set as long as the basic characteristics
above are followed. We will attempt to showcase this over different parts of the Championship.

General Composition of WSC

The Sudokus in this document are not an extensive list, but they cover most of the categories typically seen
in a WSC. Other than this, there may be other manipulations using linking, transference of digits, hybrids,
matchmaking, visual speed solving, mechanical solving, etc. to make the WSC an exciting Championship
full of variety designed to test the world’s best Sudoku solvers.

There are typically 8-10 individual rounds and 2-4 team rounds across roughly 10 hours of solving. Each
round may range roughly from 20 minutes to 120 minutes, depending on the quantity and difficulty.
Individual Sudokus are allotted points and typically a participant is awarded points for a Sudoku grid
completely solved correctly without a single error. There are multiple Sudokus in each round barring
exceptions and typically there are 1-2 rounds of Classic Sudoku with the remaining ones using variations in
different ways. All Sudokus have a unique solution unless explicitly mentioned otherwise.

About this document

This document lists some Classic Sudokus of different sizes and some basic variations. The specific
Sudokus appeared in different episodes of Sudoku Mahabharat 2015-16 (See this link for details -
http://logicmastersindia.com/SM/2015-16sm.asp) held online at Logic Masters India site.

Sudokus in the booklet were written by the following Indian authors, in chronological order of the rounds:
Deb Mohanty

Prasanna Seshadri, Aditi Seshadri

Swaroop Guggilam. Ashish Kumar

Rohan Rao

Rishi Puri

Rakesh Rai, Harmeet Singh

Riajsh Kumar . X I X
Akash Doulani, Amit Sowani, Gaurav Kumar Jain ‘ . ‘
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
112 5113
3|4 >
516 6 5
3 1 2 6
2 5
) i g 4135

1 point 2 points
A4 A4
4 4|6 3
D
3 112
D |2 o514
4|3
112 2 54

Tudoku sahabharat Standard Variations
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Sudoku

5 points

Place a digit from 1

to 8 in each empty
cell so that each

digit appears
exactly once in each
row, column and

2X4 box.
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Standard

Sudoku - 1

9 points

Place a digit from 1
to 9 in each empty
cell so that each 2 1

(00
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digit appears
exactly once in each
row, column and

o
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3X3 box.
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Sudoku sahabharat
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Standard
Sudoku - 2

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku - 3

8 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Sudoku sahabharat
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Standard Variations



Page |4

Diagonal
Sudoku

2 points

Apply standard
Sudoku rules. 2

Additionally, each
extra main diagonal b 3
(marked by a line)
must contain digits 6

from 1-6.

Diagonal
Sudoku

11 points

Apply standard
Sudoku rules.

O
w

Additionally, each
extra main diagonal
(marked by a line) 5 6

must contain digits
from 1-9.

g 8
3|75
Tudoku sahabharat Standard Variations
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Extra Region v V

Sudoku .

3 points

Apply standard

Sudoku rules. 1 |I‘ 2
Additionally, each

extra region must |

contain digits from 2 ﬂ 4

1-6. The extra
regions are of 6 3 5
cells each and are
shaded / caged in
the grid.

Extra Region

Sudoku

1|2 819
8 points
Apply standard 6 9 4 1

Sudoku rules. 8 5 3

Additionally, each
extra region must
contain digits from
1-9. The extra

regions are of 9 }

cells each and are
shaded / caged in
the grid.

Tudoku sahabharat Standard Variations
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Palindrome

Sudoku )’ 113

3 points

Apply standard
Sudoku rules. | |

Additionally, the
digits in the cells
with the line form |
palindromes, i.e.

they read the same | 5 2
from both the
directions. 4

Palindrome

Sudoku ” ’ ’ 5

8 points

Apply standard
Sudoku rules. 9 5

Additionally, the

digits in the cells »

with the line form 3 2
palindromes, i.e.

they read the same 5 7 9
from both the —

directions. 2 1 3

9 8|74 |6
Tudoku sahabharat Standard Variations
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UnTouch
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally,
identical digits do
not touch each

other diagonally. b

UnTouch

Sudoku ’»

12 points

Apply standard

Sudoku rules. 8 9 6 2

Additionally,

identical digits do 1 2 3 9 8

not touch each
other diagonally. 3 6

SuUdoku Janabharat Standard Variations
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Pencil Marks
Sudoku

6 points

Apply standard 123 | 134
Sudoku rules.

13 456 g 124 23

In some cells you
find all allowed b
candidates for the 135 126

specific cell.

56 56

36 26 14 14

Pencil Marks

Sudoku »

12 points

Apply standard
Sudoku rules. 1

234 456

In some cells you

find all allowed 1 9 2 /

candidates for the
specific cell. 4 1
368 578

348 489

Tudoku sahabharat Standard Variations
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4
4 1
112 3 6
3 Z 1 3
2 6 2 4
5 >
6|4 3 6 5
1 point 1 point
A4
2|3 1
1 2 5
3 1 Pl |3
2 115 4
5 6 3 6
4 S) 1 2

Sudoku Hahabharat Neighbours
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Standard
Sudoku V

4 points

Place a digit from 1
to 8 in each empty

cell so that each P 3 8
digit appears

exactly once in each 1 4 6
row, column and

2X4 box. 7 5 2

Standard
Sudoku v

5 points

Place a digit from 1

to 9 in each empty

cell so that each 3 2 8 1
digit appears

exactly once in each 2 8

row, column and

3X3 box. b 6 4

Sudoku Hahabharat Neighbours
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Standard
Sudoku v

6 points

Place a digit from 1
to 9 in each empty »
cell so that each

digit appears

exactly once in each 2
row, column and

3X3 box. 4 2

WIO1| O | OO
(@) |
1N

Standard
Sudoku v

5 points

Place a digit from 1
to 9 in each empty

cell so that each b 1
digit appears
exactly once in each

row, column and
3X3 box.

N OB~
O
—h

Sudoku Hahabharat Neighbours



Thermo
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally, the
digits in each
“thermometer”
shaped region must
be strictly
increasing from the
circular “bulb” to
the other end(s).

Thermo
Sudoku

9 points

Apply standard
Sudoku rules.

Additionally, the
digits in each
“thermometer”
shaped region must
be strictly
increasing from the
circular “bulb” to
the other end(s).
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Neighbours



Quadruple
Sudoku

6 points

Apply standard
Sudoku rules.

Additionally, the
digits given at the
corner must appear
in the 4 adjoining
cells. If any digit is
given twice, it must
appear twice.

Quadruple
Sudoku

11 points

Apply standard
Sudoku rules.

Additionally, the
digits given at the
corner must appear
in the 4 adjoining
cells. If any digit is
given twice, it must
appear twice.
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Sudoku sahabharat
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Touchy
Sudoku

2 points

Apply standard
Sudoku rules.

Each digit has at
least one
consecutive
adjacent (sharing

edges) neighbour.

Touchy
Sudoku

15 points

Apply standard
Sudoku rules.

Each digit has at
least one
consecutive
adjacent (sharing

edges) neighbour.

Sudoku sahabharat
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Neighbours



Repeated
Neighbours

7 points

Apply standard
Sudoku rules.

Each shaded cell
must have
repeating
orthogonal
neighbours
(neibhbours sharing
an edge). White
cells must have
distinct orthogonal
neighbours.

Repeated
Neighbours

15 points

Apply standard
Sudoku rules.

Each shaded cell
must have
repeating
orthogonal
neighbours
(neibhbours sharing
an edge). White
cells must have
distinct orthogonal
neighbours.

Sudokd Hahabharat
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Renban
Sudoku

2 points

Apply standard
Sudoku rules.

The set of digits on
each line must be
distinct consecutive
digits.

Renban
Sudoku

7 points

Apply standard
Sudoku rules.

The set of digits on
each line must be
distinct consecutive
digits.

Page |8

Neighbours
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4
1 314
311 2 5
4 6 1 6
6 5 o g
514 5 6
2 213
1 point 1 point
\>4
Z 1|2 1 2
3 2 3
1 3
4 4
) g 3 2 5
5|6 4 Z 6

Tudoku sahabharat Odd Even Variations



Standard
Sudoku

3 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and
2X4 box.

Standard
Sudoku

5 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Sudoku sahabharat
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Odd Even Variations



Standard
Sudoku

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku

7 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Sudoku sahabharat
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Odd Even Variations



Odd or Even
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally, all the
digits in the shaded
cells are of same
parity. That means
the shaded cells
must contain all odd
digits or all even
digits. This has to
be determined by
the solver.

Odd or Even
Sudoku

13 points

Apply standard
Sudoku rules.

Additionally, all the
digits in the shaded
cells are of same
parity. That means
the shaded cells
must contain all odd
digits or all even
digits. This has to
be determined by
the solver.

Sudoku sahabharat
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1
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3
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6
1|2
415
2 8
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Odd Even Variations



Odd Sum Pair
2 points

Apply standard
Sudoku rules.

A dot between two
cells implies the
sum of digits in
those 2 cells is odd.

Odd Sum Pair
13 points

Apply standard
Sudoku rules.

A dot between two
cells implies the
sum of digits in
those 2 cells is odd.

Sudoku sahabharat
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Odd Even Variations
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No Even
Neigbours

2 points

Apply standard

Sudoku rules. b 3

No two cells
containing even 4
digits can share an

edge.
2

No Even V v

Neigbours

12 points

Apply standard
Sudoku rules. 9 7

No two cells
containing even

digits can share an 2 3
edge.

8 o |4
Tudoku sahabharat Odd Even Variations
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Quadro v

Sudoku

3 points

Apply standard 1 5

Sudoku rules. 4 6
No 2x2 square can

contain only odd or 6 4

only even numbers.

Quadro
Sudoku
o 1 8
12 points
Apply standard 5 2 9 3

Sudoku rules.

O
~

No 2x2 square can

contain only odd or 3 7 6 9

only even numbers.

A

Tudoku sahabharat Odd Even Variations
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Odd Even v
Count

4 points
Apply standard Q 6

Sudoku rules. Q 6

An even digit inside

a circle represents 2 Q
the number of cells

with even digits in

the surrounding 8 6 Q

cells.

An odd digit inside a 2 Q
circle represents

the number of cells

with odd digits in

surrounding 8 cells.

Odd Even v
Count
4 gl |()2]7
12 points
Apply standard 3 5 6

Sudoku rules. 1 O

An even digit inside
a circle represents » 7 O O 8
the number of cells

with even digits in

the surrounding 8 1 2 5

cells.

An odd digit inside a 6 Q Q 1
circle represents

the number of cells

with odd digits in 6 O 1 O 7

surrounding 8 cells.

116 9 8
Tudoku sahabharat Odd Even Variations
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4 \°4
1 6
2 3 112 3|95
3 215
4 514
6 5 3 1
2 6
1 point 1 point
A4
412 12
1 6 2 3
2 5| P 3
3 Z 4
4 3 2 5
1195 415

Sudoku ahabharat Math Variations
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Standard
Sudoku V

2 points

Place a digit from 1
to 8 in each empty

cell so that each 2 3
digit appears

exactly once in each 3 7 4
row, column and
2X4 box.

> 4 8 S

Standard V
Sudoku

11213
3 points

4 6

Place a digit from 1
to 9 in each empty

cell so that each 6 7 5
digit appears
exactly once in each b 5 2
row, column and

3X3 box. 1 8 2 4

Sudoku ahabharat Math Variations
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Standard
Sudoku v

6 points
P 3 7

Place a digit from 1

to 9 in each empty
cell so that each 2 8

digit appears
exactly once in each 1 8 3
row, column and

3X3 box. 2 9 7

(o))

Standard
Sudoku v

4 points

Place a digit from 1
to 9 in each empty

cell so that each 8 9 2
digit appears

exactly once in each 1 2 8
row, column and

3X3 box. 4 6 1 9

8 2 5
Tudoku sahabharat Math Variations
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Killer Sudoku v

6 points

Apply standard
Sudoku rules.

The sum of digits in '
cells inside every X

cage must equal the b :

total given for the G
cage at the upper 1 '
left cell. Digits do '

not repeat inside a I
cage. : 9

Killer Sudoku V

7 points ! ' }: i § E:

Apply standard
Sudoku rules.

The sum of digits in L i 3 K 0 '
cells inside every — e FEET FEEEIIFEET PEeE
cage must equal the
total given for the
cage at the upper At S Fe Sl el R
left cell. Digits do ' 0 AN
not repeat inside a t---q---- EETY BRI Py

cage. b 7

Sudoku Hahabharat Math Variations



Sum Frame
Sudoku

4 points

Apply standard
Sudoku rules.

Numbers outside
the grid equal the
sum of the digits
appearing in the

first box (till the next
bold line) seen from

that edge of the
grid.

Sum Frame
Sudoku

10 points

Apply standard
Sudoku rules.

Numbers outside
the grid equal the
sum of the digits
appearing in the

first box (till the next
bold line) seen from

that edge of the
grid.

Sudoku sahabharat

17
8
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7 3 7
9

9
14

14
8

8

9 6 6

v
15 8 22 7 152314 13 18

1620 9 23 7 152217 6

10
24
11
19
9
17
13
12
20

Math Variations
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Group Sum V v

Sudoku

7 points

Apply standard
Sudoku rules.

The numbers inside
the circles
represent the sum
of digits in the
neighbouring four

cells.
Group Sum v
Sudoku
15 points » 14)

(2Q) (5/)
Apply standard \31J @@

Sudoku rules.
e
\8 —

The numbers inside

the circles /Ao /AR
represent the sum @9 @9
of digits in the
neighbouring four @@ 67}
cells.
~
—33
(5Q) 12
29 14)

N
8}

Sudoku ahabharat Math Variations
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Equal v

Product
Sudoku 5|4

5 points 6 1

Apply standard

Sudoku rules. }

Intersections A
marked with ‘X'
indicate the product 5 2

of digits in
diagonally opposite 4 3
cells is equal. Not

all possible 'X's are
marked.

Equal v

Product

Sudoku 6

13 points » 2

Apply standard ¥

Sudoku rules.
3 2

Intersections
marked with X'
indicate the product 3 4

of digits in

diagonally opposite 9 1 7 3
cells is equal. Not >
all possible 'X's are 5

marked.

Ol
~

/
Sudoku ahabharat Math Variations




Division
Sudoku

3 points

Apply standard
Sudoku rules.

The number
between two cells
indicates the
quotient/result
when the larger
digit is divided by
the smaller digit.
The remainder must
be zero.

Division
Sudoku

11 points

Apply standard
Sudoku rules.

The number
between two cells
indicates the
quotient/result
when the larger
digit is divided by
the smaller digit.
The remainder must
be zero.

Sudoku sahabharat

Page |8

| |
2
9_
3
—-4
(5
3
4
2_
2
[ |
Math Variations



Page |1
Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4
112 5 3
4 3) 2
2 3 1
1 41 Pl |4
3 6 3
615 2 6
2 points 1 point
6 2 2 3
1 1 £
2 3 115
3} 2 316
5 P 4 5
g 4 6 1 6

Tudoku sahabharat Outside Variations
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Standard
Sudoku V

4 points

Place a digit from 1
to 8 in each empty

cell so that each 7 2 3
digit appears

exactly once in each 3 7 2
row, column and

2X4 box. 2 1 8

Standard v V

Sudoku

7 points

Place a digit from 1
to 9 in each empty

cell so that each 4 7
digit appears

exactly once in each 3 2 4 6

row, column and

3X3 box. 9 3

Tudoku sahabharat Outside Variations



Page |3

Standard v v

Sudoku

5 points 7 1 2
Place a digit from 1

to 9 in each empty 2 3 4 6

cell so that each
digit appears

exactly once in each 3 1 4
row, column and

3X3 box. 9 5

Standard v v

Sudoku
812
6 points
Place a digit from 1 3 4 1 9
to9i h t
cell so that each 2 6 7
digit appears
exactly once in each 8 9 4
row, column and
3X3 box. 5 4
3 S| 7
1 2 S
8|6 / 1
617

Tudoku sahabharat Outside Variations



2-3 Outside
Sudoku

3 points

Apply standard
Sudoku rules.

The digits outside
the grid must
appear in the 2nd or
3rd cell of the grid
from the
corresponding
direction.

2-3-4 Outside
Sudoku

11 points

Apply standard
Sudoku rules.

The digits outside
the grid must
appear in the 2nd or
3rd or 4th cell of the
grid from the
corresponding
direction.

Page |4

6 1
5% 5 4
2
15 46
24 35
3
2 2 6
4 3
1 4
2 6 5 8 5
6 9 1 7 9 6
>
195 368
P69 25
1 8
86 37
3 4
37 59
814 259
3 13 6 1 2
g 7 8 5 8
9 9

Sudoku sahabharat

Outside Variations



Skyscrapers
Sudoku

4 points
Apply standard
Sudoku rules.

Consider each
number to be the

height of a building.

The numbers
outside the grid
indicate how many
buildings can be
seen when looking
in that direction
(taller buildings
conceal smaller
buildings behind
them).

Skyscrapers
Sudoku

13 points
Apply standard
Sudoku rules.

Consider each
number to be the

height of a building.

The numbers
outside the grid
indicate how many
buildings can be
seen when looking
in that direction
(taller buildings
conceal smaller
buildings behind
them).

3 1
Sudoku Sahabharat

N Wb~ =2 W W

P 3
P2
2
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2 4 2 4 1 3
4 2
1 2
2 4
3 3
2 4
2l 1
3 2 3 2 2 1
3 15 3 2 4 2
5 /
1
6 5
3
1 9
3 42 2 3 2 2

D DD W wpddDPDD A~ B

Outside Variations
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Descriptive
Pair Sudoku

N
(0))
wnd

3 points

Apply standard 3 6 6 4
Sudoku rules. 2 3 1 6

For every pair of
outside clues X and 4 5 5 2
Y, at least one of

these cases is true:
(a) X is in the Yt 13 15

position in that
direction. b
(b) Y is in the Xth

position in that
direction.

Descriptive 1 8
Pair Sudoku 8 9

47 16

) 34
Sodokarues P56 39

For every pair of 28 13
outside clues X and

Y, at least one of 27 1 8
these cases is true:

(a) Xis in the Yt 6 8 1 6

position in that
direction.

(b) Y is in the Xt 45 26

position in that

direction. 58 37
48 27

5 6 1 5 4 6 3 3

9 7 3 7 7 8 9 b5

o) S
~NO1
o) S
(0))

i N
oo~
oond

11 points

3
4

Tudoku sahabharat Outside Variations
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Next to 6
Sudoku

W—
TN V)
N

wn

4 points 35

Apply standard 3
Sudoku rules.

Additionally the 1 2
clues outside the

grid indicate the 4
numbers to be

placed in the cells 1 3
before and after the

cell containing 6 (in

any order) in the 13
corresponding

direction.

Next to 9
Sudoku

10 points 12

P> 34
Apply standard
Sudoku rules.

P23

Additionally the
clues outside the 6 2
grid indicate the

numbers to be

placed in the cells 3 4
before and after the

cell containing 9 (in 1417 5
any order) in the

corresponding

direction. 4 6

woo
(00)

b
ocow
N OO

5
12

Tudoku sahabharat Outside Variations



X Sums
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally the
clues outside the
grid indicate the
sum of the first X
numbers placed in
the corresponding
direction, where X is
equal to the first
number placed in
that direction.

X Sums
Sudoku

12 points

Apply standard
Sudoku rules.

Additionally the
clues outside the
grid indicate the
sum of the first X
numbers placed in
the corresponding
direction, where X is
equal to the first
number placed in
that direction.

20

22

45

38

33

Page |8

179 6 10
o1
13
5
o1
1
12
20
12 45V17Vi3s 7
9
23
4 7 16
33
:
33 27 39 10 1

Sudoku sahabharat

Outside Variations
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\'4 \°A
5|4 5 1
6 3 4
4 6 1
1 4 2
1 2 4
3/ 2] Pl |5 6
1 point 1 point
\>4 A4
4 5 3
3 1]2
2 6 3 1
1 3 1 6
4 54
1 2 6

TUdoku sahabharat Twisted Classics
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Standard
Sudoku v

4 points

Place a digit from 1
to 8 in each empty

cell so that each 2 5 7
digit appears

exactly once in each 7 5 3
row, column and

2X4 box. b 6 3 1

Standard
Sudoku v

11 points } 4 v 5

Place a digit from 1

to 9 in each empty

cell so that each 2 8 6
digit appears

exactly once in each 4 3 9

row, column and

3X3 box. 8 5 1

6 7/ 5
m Tahabharat Twisted Classics
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Standard
Sudoku v

6 points olg 713

Place a digit from 1

to 9 in each empty 9 5 4

cell so that each
digit appears

exactly once in each 7 2 9
row, column and

3X3 box. 8 5 9 6

Standard v
Sudoku 5 6 219 -
7 points

1 3 2

Place a digit from 1
to 9 in each empty

cell so that each 7 8 1
digit appears
exactly once in each 2 1
row, column and

3X3 box. 2 9 4

6 519 8 3
m Tahabharat Twisted Classics
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Overlapping v
Sudoku

S 6
3 points
16 points 1 3
Apply standard 3 1

Sudoku rules to

each of the grids. )

Two grids are
overlapping. 2 4

319| |4]s8
8 6 7
9 5 4
) o 4 1 4| |5
8| |1 3] |9
9 8
7 1
1, |4 9| |7
9| |8 7 2
5 4 7
6 7 1
8|5 |1]3

TUdoku sahabharat Twisted Classics



Linked
Sudoku

5 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Sudoku sahabharat
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Twisted Classics



Linked
Sudoku

16 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Sudoku sahabharat
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6 8
4
4 2
6
4
/
1 9
6
/ 4
A4
9 4
4 8 5
8 71
2

w

Twisted Classics
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Disjoint v

Sudoku

1 point

Apply standard 4
Sudoku rules.

Additionally, no 2
digit can appearin
the same position in 5 6
different 2X3 boxes.

Disjoint \ 4

Sudoku

9 points

Apply standard
Sudoku rules. 9 1195

Additionally, no b 9

digit can appear in
the same position in
different 3X3 boxes. 7 8 3 5

9 / 4
m Tahabharat Twisted Classics
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Mirror
Sudoku

1 point

Apply standard 2
Sudoku rules.

The four corner 1 3
boxes (top left, top
right, bottom left,
bottom right) all

contain the same
digit in symmetrical b 5
positions with

respect to the
center of the grid.

Mirror v

Sudoku

7 points

Apply standard
Sudoku rules. 1]8 4

The four corner 6 1 2
boxes (top left, top

right, bottom left, 5 1
bottom right) all
contain the same

digit in symmetrical 7 5 6
positions with

respect to the
center of the grid. 4 9 1

6 2 3
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Twin Givens
Sudoku

2 points

Place digits from 1-
4 in each row,
column and 2x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Twin Givens
Sudoku

8 points

Place digits from 1-
7 in each row,
column and 3x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Sudoku sahabharat
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
v \>4

3 6 1

2 4 2145
> 1 3 6

615 2 3 3

3 2 2| 4
1 »> 1

1 point 2 points
\'4 \'4
0|4 6
3 1 3
3 2 2 4
6 3 3 9
4 6 4 2
> 5 >
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Standard Sudoku

4 points

~

Place a digit from 1to 8 8
in each empty cell so that
each digit appears »
exactly once in each row,
column and 2X4 box.

6 2

Standard Sudoku
-1 3 1 4

4 points 8 6

Place a digit from 1 to 9 b 1 3

in each empty cell so that
each digit appears

exactly once in each row, 3 7 2
column and 3X3 box.

@ﬂb'k_u mm Converse Variations



Standard Sudoku
-2

5 points

Place a digit from 1 to 9
in each empty cell so that
each digit appears
exactly once in each row,
column and 3X3 box.

Standard Sudoku
-3

4 points

Place a digit from 1 to 9
in each empty cell so that
each digit appears
exactly once in each row,
column and 3X3 box.

Sudoku sahabharat
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4 8

1 6
6 / 3)

1 8

2 9

3 1 2|8
4 2 3
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Consecutive . D
Sudoku o

=

1 points

Apply standard Sudoku
rules. b

Orthogonally adjacent 3
cells containing

consecutive numbers are
separated by bars. J

All possible bars are
marked.

Consecutive
Sudoku

1

12 points

Apply standard Sudoku b
rules. H

Orthogonally adjacent
cells containing
consecutive numbers are
separated by bars.

+

All possible bars are
marked. ]

1
T

@ﬂb'k_u mm Converse Variations



Kropki Sudoku
3 points

Apply standard Sudoku
rules.

If the difference between
digits in orthogonally
adjacent cells is 1, then
they are separated by a
white dot. If the digitin a
cell is half of the digitin
an orthogonally adjacent
cell, then they are

separated by a black dot.

The dot between '1' and
'2' can have any of these
dots.

All possible dots are
marked.

Kropki Sudoku
16 points

Apply standard Sudoku
rules.

If the difference between
digits in orthogonally
adjacent cells is 1, then
they are separated by a
white dot. If the digitin a
cell is half of the digit in
an orthogonally adjacent
cell, then they are

separated by a black dot.

The dot between '1' and
'2' can have any of these
dots.

All possible dots are
marked.
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X Sum Frame
Sudoku

3 points

Apply standard Sudoku
rules.

The letter 'X' indicates
the sum of the numbers
appearing in the first box
in that particular row/
column seen from that
direction (first three
numbers for rows, and
first two numbers for
columns). X is to be
determined as part of
solving.

All rows/columns, where

the sum is X, are marked.

If there is no X marked
for a row/column, the
sum cannot be X.

X Sum Frame
Sudoku

9 points

Apply standard Sudoku
rules.

The letter 'X' indicates
the sum of the numbers
appearing in the first box
in that particular row/
column seen from that
direction (first three
numbers). X is to be
determined as part of
solving.

All rows/columns, where

the sum is X, are marked.

If there is no X marked
for a row/column, the
sum cannot be X.

Sudoku sahabharat
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QuadMax 40dd
4Even Sudoku

2 points

Apply standard Sudoku
rules.

The 2x2 boxes where an
arrow points to the cell(s)
with the biggest digit
contain either ALL even
numbers or ALL odd
numbers.

All arrows are indicated.

If there is no arrow in a
2x2 area, the 4 cells do
not all have the same
parity.

QuadMax 40dd
4Even Sudoku

16 points

Apply standard Sudoku
rules.

The 2x2 boxes where an
arrow points to the cell(s)
with the biggest digit
contain either ALL even
numbers or ALL odd
numbers.

All arrows are indicated.

If there is no arrow in a
2x2 area, the 4 cells do
not all have the same
parity.

Sudoku sahabharat
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Average Sudoku

Page |8

3 points

Apply standard Sudoku

rules.

If the number in a cell

equals the average of its
two horizontal

neighbours then the cell
is marked with a
horizontal line. If the

the average of its two

number in a cell equals b

vertical neighbours then
the cell is marked with a
vertical line.

All possible lines are
marked.

Average Sudoku

13 points 6

Apply standard Sudoku
rules.

If the number in a cell
equals the average of its

two horizontal
neighbours then the cell
is marked with a

horizontal line. If the
number in a cell equals

the average of its two
vertical neighbours then b
the cell is marked with a

vertical line.

All possible lines are
marked. 7

Sudoku sahabharat
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
\>4
1 5 2 6
5 1 3
5 1 5 6
2 3 6 3
> 2 3 4
3 6 4 6
1 point 1 point
1 2
315 112
/. 3|4
» >
113 416
2 1 S| 1

@ﬂb'k_u mm Irregular Variations
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Standard
Sudoku V

3 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each 3 8
row, column and

2X4 box. 2 6

Ol
\®)
~

Standard
Sudoku - 1

5 points

Place a digit from 1
to 9 in each empty
cell so that each

digit appears
exactly once in each b
row, column and

3X3 box. 6 4 5 7

P

8 2 3 4 9
@ﬂb'k_u mm Irregular Variations
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Standard
Sudoku - 2 v

6 points 7

Place a digit from 1

to 9 in each empty 3 2 1 5

cell so that each
digit appears

exactly once in each 8 1 2
row, column and

3X3 box. 7 8

Standard
Sudoku - 3

10 points

Place a digit from 1

to 9 in each empty
cell so that each 3 8 1

digit appears
exactly once in each b
row, column and

3X3 box. 6 8 5 7 1 4

>

@ﬂb'k_u mm Irregular Variations
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Irregular
Sudoku

2 points

Place a digit from 1
to 6 in each empty 5
cell so that each

digit appears
exactly once in each 1
row, column and
outlined region.

Each outlined

region is marked by

thick borders. 6 3 1

Irregular
Sudoku

6 points b 3 9

Place a digit from 1
to 9 in each empty

cell so that each 3 1 8 9
digit appears
exactly once in each 4 8 1
row, column and

outlined region. 6
Each outlined

region is marked by

thick borders. 6 5 3

@ﬂb'k_u mm Irregular Variations
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Toroidal
Sudoku 3 o

2 points

Place a digit from 1 5 6
to 6 in each empty
cell so that each

digit appears 4 3
exactly once in each

row, column and b
outlined region.

Some of the 6 1
outlined regions
wrap between the
top and bottom
edges, and/or the
left and right edges

of the grid.
Toroidal
Sudoku V
15 points 1 9
2 6

Place a digit from 1
to 9 in each empty
cell so that each 8 7
digit appears
exactly once in each 1 4
row, column and
outlined region.

Some of the P 5 9
outlined regions
wrap between the

top and bottom 7 4
edges, and/or the
left and right edges 8 2
of the grid.

5 8
@ﬂb'k_u mm Irregular Variations




Scattered
Sudoku

2 points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region.
Grey cells are not
part of any regions.

Scattered
Sudoku

12 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region.
Grey cells are not
part of any regions.

Sudoku sahabharat
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Deficit
Sudoku

5 points » 5 3

Place a digit from 1

to 6 in each empty 2 4
cell so that each
digit appears 6 3
exactly once in each
row and column. 4 1
Digits should not

repeat in the
outlined regions. 5 2

Deficit
Sudoku

8 points

Place a digit from 1
to 9 in each empty

cell so that each b 8 1 6
digit appears
exactly once in each 4 8 9 7
row and column.
Digits should not 8 9

repeat in the
outlined regions.

5 911 2
@ﬂb'k_u mm Irregular Variations
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312 21113
Solved 4 2|1 3;4 2
Bxample t1[3]4]2]3] 1
2]4/3/1/2]4

Instructionless v v

1-6 [r— —_— S

4 points

Instructionless 1-9

16 points

@ﬂb'k_u m@t Irregular Variations
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.

1 point 1 point
4161|253 5/1|3]|6|2]|4
5/2|3|4|6|1] P»|l2/4/6]|5|1]|3
1145|632 6(2(5|3 |41
6/3(2|5|1]|4 413/1]2|5/|6
211/6|3|4|5 3/5(4|1/6/|2
P35 4]1/2|6 1162|435

1 point 2 points

Y \°4
116/5|3/4|2 5/4(6|1/2]|3
4132|165 113/2]|6/5|4
3/1/4|5|2]|6 416/1]2|3|5
5/2|6|4|1]|3 3|2(5|4|6|1
214(3]|6|5] 1 6(5[4|3|1|2
6|5(1|2|3]|4 2113|546

Tudoku sahabharat Standard Variations
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Standard
Sudoku

5 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and
2X4 box.

= DWW OAOAIN| OO |~
N A DO W0 | —
W Ao |~ | 2N
O OIN =B~ DJIOTW
A WO 0= NN O
O IN[=2 WD O1B~ |00
N =S | NJOO | OOJW | O
OO oD O A~— N

A4

Standard
Sudoku - 1

9 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

N N OJIW O =101~ | O
- A OAIN O OO |00 | W
N O OO D HhJOIW|—

OO0 WIND|+~ 01|~ N O

WDIND| ARO[ =2 OIN OO

O 20O N W NN+

QO =201~ O1IN]JW| O |

A O D=2 W00 | 01|
OO WINJO | O DS |2 |0

|
|

Standard Variations



Standard
Sudoku - 2

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku - 3

8 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

|
|
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2/7/416(1(9]13|5|8
8/1/3|5|/7/2]14|9|6
5(6/9]3/8|4})7|2 |1
113/2]14/9,5|6|8 7
41571812619 |1|3
6(9/8|1/3|7]2|4|5
9/4/1]7/5|3]8|6|2
/7125|196 /8]1|3|4
3/8(6|12(4(1|5]7]9
\ 4
2/9/1]|3/5|7]14|6|8
3/6/8]19(4(2|1]5]7
4171516183 [9]|2
/718/6]1/2/4]15|3|9
9/114]|8/3|5]2|7|6
5(2(3|7/9/6]8|1|4
113/714/8/9]6[2|5
6(4/2|5/7/1]19|8|3
85912637 4|1

Standard Variations



Diagonal
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally, each
extra main diagonal
(marked by a line)
must contain digits
from 1-6.

Diagonal
Sudoku

11 points

Apply standard
Sudoku rules.

Additionally, each
extra main diagonal
(marked by a line)
must contain digits
from 1-9.

Page |4
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6/2|3|5|41
1145|326
251|634
Pl3|6/4|2]/1]|5
4136|152
5/1/2|4/6/|3
411/2|7/3|5|8/6|9
6/7/8|2/9/4]|5|3]1
93/ 5|1/6[(8|4/2|7
5/6/9|3/7(2|1/4|8
712/3l4/8[1|6/9|5
84/ 1|6|/5[(9|3|7|2
3/9/7|5/1/6|2|8/4
2/ 5/ 6|8/4(7]9/1|3
118/4|9/2(3|7|5|6

|
|

Standard Variations



Extra Region
Sudoku

3 points

Apply standard
Sudoku rules.

Additionally, each
extra region must
contain digits from
1-6. The extra
regions are of 6
cells each and are
shaded / caged in
the grid.

Extra Region
Sudoku

8 points

Apply standard
Sudoku rules.

Additionally, each
extra region must
contain digits from
1-9. The extra
regions are of 9
cells each and are
shaded / caged in
the grid.

|
|
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Palindrome
Sudoku

3 points

Apply standard
Sudoku rules.

Additionally, the
digits in the cells
with the line form
palindromes, i.e.
they read the same
from both the
directions.

Palindrome
Sudoku

8 points

Apply standard
Sudoku rules.

Additionally, the
digits in the cells
with the line form
palindromes, i.e.
they read the same
from both the
directions.

Page |6
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Ppl1/3/6|2/5|4
2/ 4/5|3+1+6
6 1,3|l4 2 5
524|163
4611|532
352|641
5697483 4]2
4131|5298 6|7
218716813 14]9/1|5
7.56]8]9/3[4 2|1
11213l4/5/6|7 89
819]al2]/711]|53]|6
3la/2]9|/6|/5]1|7]|8
6/1/5|3|817|2/9]|4
9|7/8|1]/4/2]|6|5 3

|
|

Standard Variations



UnTouch
Sudoku

2 points

Apply standard
Sudoku rules.

Additionally,
identical digits do
not touch each
other diagonally.

UnTouch
Sudoku

12 points

Apply standard
Sudoku rules.

Additionally,
identical digits do
not touch each
other diagonally.

Page |7

3/1/6|5|4]|2
5/4|2]|3|1|6
1165|423
423|165
P65 42 3 1
23/ 1|6/5|4
9/ 1/5|4/2/3|6/8|7
6 2/3|7/8/ 5|4/9]1
78/4]l9/1/6]3/2]|5
1/5/2]6/3|4]|9/7|8
8/3/9|[1/7|2]5/6|4
4/6|7|8|/5/9]|1/3]|2
319/ 1]2/4/7|8|5|6
5/ 7/8|3/6/1]2/4|9
2 4/6|5/9/8|7/1|3

|
|

Standard Variations
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Pencil Marks

oudoks 62 4]53] 1
6 points
gpglykstanldard 5 1 133 144 2 6
udoku rules. 4 5
s sowe LS B
cand.i;z.lates”forthe b 2 135 5 6 116 4
specific cell.
41 5(113|6|2
362|145

Pencil Marks

f::"kf p[4]75[1]8/3[9]2]6
Apply standard 218619541371
et 9/13|2 7 6[58 4
candidates for the 116(9]|3(4(8]2]|5|7
specific cell. 7 4 2 3@8 9 558 8 1 3
3/5/8|7/1/2]6/4]9
8/3/1]4al2/9|7]6]5
5/9(4]|8/6|7]1|3]2
Pl6(2/7]|5/3/1|4/9|8

|
|

Standard Variations



Solutions

Standard - Aditi Seshadri

Standard - Aditi Seshadri

N~ O O
O OJN O~ <
O T O|N ™
< VOO~ 0| AN
OO N |~
— N O T | ©

A
NV~ O | O
< O|N B~ M
I OO | AN
MO N|O IO |~
O ~JOLNM |
O JT|IM ~JN|O©

Standard — Prasanna Seshadri

Standard - Aditi Seshadri

O WO~ MO | N
N~ |FT OO ™M
< OO NjWO |~
O OJN | —|M | <
IO OIAN | WO
OANWO T~ O©
A
O TN WO~ | O©
N~ T ™
O O|IN | O
LMV~ JFJO AN
O~ N|M | <
< N OO0 |~

Standard - Prasanna Seshadri

Standard - Prasanna Seshadri

1

6
2

1

6

]

6/412|7|3

|

419/5/6|7|2 8

1

5/612/7/9|8|3|4

5/9|8

6/2/1]7/9/3]4|8]|5
41713152869

3

7/8[/9]13/4/2]5
9/3|714/8]|5

8/4/2|6 /311957

y

Plo6|5|8/1]/7]349

5

1

1

274

1

2186 4|7

8 4|3|7/5|6

|

1

3

114(7|5]2|8|6|3
326874

2

7184|6532

3)

8/6|5]|3

4|17,2,1]16/5|3|8

Pl6(5/3|7]4](1/8]|2

Neighbours

Sudoku sahabharat



Solutions

Standard — Aditi Seshadri

Standard - Prasanna Seshadri

NOO OO N | TSI M|~
MO O N[~ |00 OIS | O |~
—F OO | NM|O|O | AN
O N~ | JTINMNOO|AN|M|00]|©
O M OV O |~ AN T
ANNOIM |0~ | OO
O N MOMIT O[O |00
< O —|O| M  O|IN | N WO
OWOINAN —~—COOJO T ™
A
O OO~ IO TN M|~
OINTTOMOIN|T O O
MO T N[OOI |O|O
— O OINMN AN OO | T ™
N NOD T M]O | |O©
< MO | [ —O|I0 I~ AN
N AN®MIT|O OO 0|
O O LM |~ N T
O~ I[N O N |0 |WO
A

Quadruple — Prasanna Seshadri

Thermo - Prasanna Seshadri

246 m—

2|5

6/14|3

1246

1

1

5

135

251364

2

—42466 3
1

Pl 3 416|251

3

5

4

1

1

31416 5|2

2|65

y

412/3]15|6

6/5(1]|31214
9,1,2|4|3|6

3/4/6]2

Extra Region — Prasanna Seshadri

Thermo - Prasanna Seshadri

A4

olaolo|—wv|o| <]~
<o Moo ~l o 0| —|
\Ma177 NI AL
™ 4n1a5 ~|o|wolalo
oo 9H8 ©| 4w7 ™
o) 7m644 alm|lo]~|o
9%6%5 ) IR
~fo|au|m|w| o] o<
—|m 4ﬂ7 ol oo G%M‘
A A
olw|t|lajo|lo|~ o
olm~|w|o| ~lo| |
~Nlolals| | m]on| o
al-lo|o|~|t]w|wo|o
<|o|o|l- 1w alem | o]~
Wi~ oo o|o|la~|<
olalolo|t|w]~|~m
st~ (|~ || 0| o
—|o| Nl o|o|ls | ajw
A

Neighbours

Sudoku sahabharat



Solutions

Repeated Neighbours — Prasanna Seshadri

Touchy - Prasanna Seshadri

4

1

2143

1

4/516|3|2

6

1

613 2|4|5]|1

5

3114|595 2|6

215|613

Plaj2/3]1]6|5

.

6135

.

415/2|6

2

|

3/6]14/5|2

4
3

2/6/5|3|4

1

Ppl6/5/3|2]/1|4

Ppl5/4/2]1/6|3

Repeated Neighbours — Prasanna Seshadri

Touchy - Prasanna Seshadri

A4

v

ANOIO M| —|O|WO|T
T OINOOIOIN|O |
— OO0 T N|M | N~N|O
<O | OO | O M|~ | AN
O N N|T| OO M|
I~ OINNOOJO | T | O
MNOMOMAN][T [0S0 O
O WOI~|OC OIS IT|IN™M
OO IT|MO|N|WOJ |00 |~
A

OO NIF ON]~ | O|O
< MO OO || ~|0 | AN |~
OLINT~OINMNOD|O M| T
N ST N MO [0 | O
O~ ANJO | O IO | NM
VO OMIMNOILOIT | — | N
N O OO |O|IN®M| T~
—NOIM T O|N|O© |
MO TN~ O O|0O

A

Renban - Prasanna Seshadri

Renban - Prasanna Seshadri

O T OINM OO |~ AN
NN O | N0 | ©
NI OIN T~ 0O|M O |
O O FT|MO|N~|0O N
OINANIWOFO O|TF (O |
Oy DIIT O NJO [P~ M
N O IO O M|y ||~
O OO K[~ I OIN | M| O
< M~ AN INO WO | O
A
NI QO |
— QIO OOIN | <
< OIN | M| O
O~ QT | AN
MO |~ NJIO | ©
OANILO T~ ™
A A

Neighbours

Sudoku sahabharat



Solutions

Standard — Ashish Kumar

Standard — Ashish Kumar

MO TN WO
N OIM ~]O | <
<t O NV~ ™M
O~ O | N
O AN|T OO |~
O |~  N|M | ©
A
N O~ || O
O O VI~ AN
O ~|MO AN|T| O
O MO|N |~ IO | <
OO OINM
< N[O MO |+~

Standard — Ashish Kumar

Standard — Ashish Kumar

N~ m|<|©
<t | m|jo| ~|wv|ln
wloln|t|m|~
TN Ko YR V] RaliTe!
IRV RaliiTe] KRS
— ol ojln|m
N Oo|lu| ~|m| <
\md bl E2 K] T2 KsY
oot |o|~
O N~ ||| ™
To ARl RS eoY Ko VAR
<t | m|jo|la|l~ |

A

Standard - Swaroop Guggilam

A4

A4

Standard — Ashish Kumar

OIMNO|IFT OO~ N|™M
O N | ~ OO |
T OO NN |00 | WO
N~ T OJN| M| ©
O O OIN M| — || S|~
N M T | O |0 |O|
O N O™ | TFT|O| N
< | T N[O MO | O | AN
OOoOLIMN N O|T |~ |0

A A
—INIO N | T)]O© | O
M OJO I —~|N WO
N O™~ O | T
< IO N[O N|M |
O IF— VO NMNIWO AN
O M OOJN | I~
OIANIN O™ MO | O
NN O Do ™M

Odd Even Variations

Sudoku sahabharat



Solutions
Standard — Ashish Kumar

Vv

3

Standard - Swaroop Guggilam

4

’

9

1

2,138

,

2191856

2/8(5|6|7|9

1

y

4

5/918|4|6|7/2]|3

5/7(8|9|6(3]4|1]2
9/6(2|7/1]4]|3|8]|5

1

8126|537

7/3|4

6/8(7]13/9/2]|5|4

419|5]|6|7

2/1/3|4/5/8|9|6|7

1

91716

|

81412/6|9

9/3|6]4 /5|2

y

|

4121671385

7/513/2/8|6|9|4

8

y

1

8/9/3|6|4 5|1|2]|7

3141285

7

2/6|8|5/9|3|7\|4

9

5|37

Pla|2/6|7/1/9|5/3]|8

pl6/ 59|47 2|8]|1(3

Odd Sum Pair — Swaroop Guggilam

All Odd All Even - Swaroop Guggilam

4

,

3/2|6]5

Pple|1/3|4/2]|5

6

1

6|32

51263

1

1

4

614132 5

2/3|6]11/5|4

4
5

1

3/5|2]4

Plel2| 3|5 41

Odd Sum Pair — Swaroop Guggilam

All Odd All Even — Swaroop Guggilam
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Solutions

Quadro - Ashish Kumar

No Even Neighbours — Swaroop Guggilam

6

4

\'4

1

3)

1

6]14|/3|5

1

512|413 /6| 1

3(6/1|5|4]|2

4,5|3]|2

2

1145|623

613|2

3

6

]

2

|

1

654

1

2

6514 /3|2

654
3

514 |3]2

413/2|5|6

y

Pl2/1/6]|3]/4]|5

Quadro - Swaroop Guggilam
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No Even Neighbours — Swaroop Guggilam

Odd Even Count — Ashish Kumar

Odd Even Count — Ashish Kumar

4

6

1

6/7(5]9(4|8

1

2

416/8|1/3)2]7/9]|5

213191857

117/5)]9|6/4|3)/8]|2

9/1/3|7/2|8|4|5|6
85649 32|71
6/9(4)3|8/1|5) 2|7

5/8|712/4|/9]|6/|1]|3

Pl714/2]|51(6)]8/3|9

3

|

2/4/6]5

1/3/5[4)2 6

351|642

416/2]1(3)5

6/1|3|2/5|4

5124|361

Odd Even Variations

Sudoku sahabharat



Solutions

v

Sum Frame

Math Variations
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Solutions

Equal Product

Group Sum
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Variants Solutions

Skyscrapers
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2-3 Outside
6

NN O —
ol w]|lm|~|a|o|~
~|lo|~|«¢|an]m v
|l |o|w| o~ ||
Al t|lo | ot~
|| o]~ |w|lo|a|a
al- oo oo

<+ ~ 3;M74

O

Al <t ™

0| m 271 ©o|<]|o

o< 675 ™|~
<|o|~ 473 oo | aem
w|+~|w© 572 < | o] s
) <2 GRS 174 0| ©
o< w 376 — |

n < ™
~—
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Variants Solutions
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7
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1
4

5
6

b
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5
7

Descriptive Pair
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in

each row, column and 2X3 box.

1 point

1 point

v

MOIAN|T OO
—IOOIM O | N
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NVDJO T | O
O ~IN MO | <

A
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MO N | <
MO N | || O
< TN OM | O
O O MOIAN |

1 point

1 point

3

2

2

1

1

546

1

25|63 |4

3

5146

3/1/2]14/6/|5
4163|251

1

2

6/54]|3

3}

3

1

6

314|6

1

1

3152 |4

5

1

654 |3|2

413/6]|2

2

514 2
6

3/2/4|6|5|1

1

Twisted Classics

Sudoka Hahabharat
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Standard
Sudoku

4 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and

2X4 box. b

N|w|lo | slo| | old
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Standard
Sudoku

11 points }
Place a digit from 1

to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

o o slolain]a~wlg
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Standard
Sudoku

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku

7 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Page |3

\'4
3671482951
5/4/2|19(1/7]|3|6|8
8/9/1|6|5/3|7]4)|2
6/7/3|11/2/4|8|9|5
2/1/815(3|9|6|7 |4
41597681123
9/2/6|8(4|1|5|3|7
/718/413(9(5]2|1|6
1/3/512|7/6]14/8|9

\'4
2861154193 |7
5/1/417/3/9|6|2 |8
719/3|8|6|2]4|5]|1
416|7|12,/8/311/9|5
3/2/8|5(9(1]7]4|6
9/5/114|7/6]3|8|2
8/7/9|3|/1/5]2|6/|4
113/2]16/4,8]5/7/|9
6/4/5|19(2/7|8|1|3

|
|
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5

1

1

415:3

1

3

8

5

1

1

3124

1

1

51647

1

614]15(3]2

1

1

3/4/6]2

653|792

534162

2

612/ 315|146

3|62

41511213614

Overlapping
Sudoku

3 points

16 points

Apply standard

Sudoku rules to
each of the grids.

Pl1|4/513|6|211

Two grids are
overlapping.

1

/714/3(6]12|8|9

6 /3|5|/7|9

1

5/3|8(4(2]9|7|6

1

6/9/5|7/24|8|3

1

2164137915

9/7/8|5|6

1

5/319/7|4]18|6 |2

3

1

4182

7196125834

2179|184

8

64 713/8|9]|2

3/1/514|2/6]19/8|7

9/2|8]5

Pl5/6(4]7|3/2|1/9|8|4/6|5

Twisted Classics

Sudoka Hahabharat



Linked
Sudoku

5 points

Apply standard
Sudoku rules to
each of the grids.

Two grids are linked
to each other. The
shaded cells must
contain same digit
in both the grids.

Page |5

\'4
5|6(3|4(2|1
2411|653
316|542
415|2]13|1|6
625|134
113141265

\>4
215|346 |1
11412(6]15|3
3|6|11(5]4|2
4115|326
5/2|6(1]3 |4
6314 2]|1|5

Sudoka Hahabharat
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3

1

9

1

3

9

4

8126

1

1

9

1

2178 |4

2146

1

5| 4|16 |78

1

1

368|492
8192|6357

315|428

1171683

1

819/2|6|3|5|7

1

4193|572

5

1

8/7]14/9/3|2|6|5

1

319|121

8/4/6|12[7[9]5

/
4

917,354

2(6/5|8|3/7]9 4
624|785

1

513|916

41612719183 |5

1

6

Linked
Sudoku

16 points

Apply standard

Sudoku rules to
each of the grids.

Two grids are linked
to each other. The

shaded cells must

contain same digit
in both the grids.

71913]|8|5

1

5/8|2|3|6(4]7

4

679

3(5]7]6|8|2

8

9121415

Pl23|5]7|4/8|9|6]1

Twisted Classics
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Disjoint
Sudoku

1 point

Apply standard
Sudoku rules.

Additionally, no
digit can appearin
the same position in
different 2X3 boxes.

Disjoint
Sudoku

9 points

Apply standard
Sudoku rules.

Additionally, no
digit can appear in
the same position in
different 3X3 boxes.

Page |7

>

\'4
114]2]|5|3|6
5/3|6]|1(4|2
3/5|1]6|2|4
2641315
411/5]12|6|3
623|451

\°A
112]5]16/3[8]9 74
418|3|7(9|5]6|2|1
6/9/7]14/2/1|15|8|3
2/5/113(8|7]14/9|6
9/7/8]11(6/4]3|5|2
3/6/419(5/2|7|1|8
/7112|154, 3|8/6|9
5(4/6|8|1/9]12|3|7
8/3/912|7|/6|1[4|5

|
|
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Mirror
Sudoku

1 point

Apply standard
Sudoku rules.

The four corner
boxes (top left, top
right, bottom left,
bottom right) all
contain the same
digit in symmetrical
positions with
respect to the
center of the grid.

Mirror
Sudoku

7 points

Apply standard
Sudoku rules.

The four corner
boxes (top left, top
right, bottom left,
bottom right) all
contain the same
digit in symmetrical
positions with
respect to the
center of the grid.

Page |8

>

3/5/6[1/(4|2
411/2|5/3|6
5124|361
116(3]4|2]|5
635|214
P24/ 1|6/5]|3
A4
3/8/4|(7(1/2|5/9]|6
9/ 2|/7]5|6/4|8|3]|1
5/6/1]/8|9/3|2|7]|4
8 4/6[1/3/7|9/5]|2
2/5/9|6|4/8|3|1|7
7/1/3]9|2|/5|6/4]|8
417/2|3/8/9|1/6]|5
113/8l4|5/6|7 2|9
6/9|/5[2|7/1|4/8]|3

|
|
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Twin Givens
Sudoku

2 points

Place digits from 1-
4 in each row,
column and 2x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Twin Givens
Sudoku

8 points

Place digits from 1-
7 in each row,
column and 3x3
outlined box.

Two cells will
remain empty as
these are twins and
of the same value.
No two twins can
touch each other in
orthogonal
directions.

Enter X for blank
cells, while entering
the answer key.

Sudoka Hahabharat
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Solutions

Standard 6x6
(Rakesh)

Standard 6x6
(Rakesh)
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Standard 6x6

Standard 6x6

(Harmeet)

(Harmeet)

A4
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5

,

2

1

513|6|4

1

512|643

6/4/3|2|5

2

1

4/3|6]5
364

Ppl5/2|1|4 /3|6

2

3

6

1

|

3/4|5

A4

51426

1

1

2

3

2146|531

5|34
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2

1

6

3

1

6

8/5|7

Solutions
1

2
3)

o

1

40
3

Ae

4

\'4

2/8/9]15/6|3

(Rakesh)

Standard 9x9
Kropki 6x6
(Harmeet)

6

]

615/ 28|34 9

2

5|/718[3/2|6|9 4

7

,

P51

3/6[5|1]7]|4]9|2|8

8/2/9|3|5/6|4|7

Plol4/3]l6/1/7|2|8]|5

6/9(8|7/4|5

]
213141916

4

7
5/8(214|9|3}|7

2

1

21817

31798

|

3
(Ot
4
O
3
O
6
(O

201,899 /506¢3¢4 |7

3
7

3|5]2|6|4

Kropki 9x9

4
=

4¢2

1

|
1

6¢3|5
614925

Pl 1

y

(Rakesh)

Converse Variations

3596
442

706|81]9]293

9/403[1/798|506 2

70605044203 [1/ 908

1026403660708 /5|9

P83 7|5/9|4|6 201

>

605/9]2|8

g —

8197

\24

y

6|5[8|7|3

\'4

9/2|7|4|6|5

(Harmeet)
1

Standard 9x9
(Harmeet)

2185(9]16 (3|4
Consecutive 6x6

1

2/5|7/3/8]9|4/|6

y

3

6/5/7]13[8/4|1/2]|9

3/8/9|4|7|6]5
5/4/6]|2
7
8
2194

Plo 78|64 ]|2]|3|5]1
416(3]59

1

oo

e

wlwol<|=l~

w|an]m|o| <

%MIWGZNT

64:NIM1
A

1%+

1|3]6|2]|5]4]8

Sudoku sahabharat

119712

6

3

y

(Harmeet)

8724115 |3

Consecutive 9x9

113]7|9l8l5]4/2]6

504/2]8)7/9]6|3]1

3/8/6(5]4
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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in

each row, column and 2X3 box.
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Standard V
udon 112]6|8|7 3|45
X points
PIaqe a digit from 1 5 7 4 3 1 8 6 2
ooll S0 that cacn 8/6(5[/1]134|2|7
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cxactyonce ncar 7/4/3/2[6/1/5/8
2(3/7|5]4|6|8]1
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S”d,°f”'1 51418(2]117]6]9]3
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Standard
Sudoku - 2

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku - 3

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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1/7]8l2/5/6]4]3]9
4/5/9|7/3]/1]8|6]2
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3/6|8|lo|5|7]2]1]|4
4/9|/2]|sl6|1]7]5]|3
6/2|[5[4]3]/9]1]7]8
olsla]|7]1]6]|3|2]5
1/3]7]|5/8/2]4|9]6




Irregular
Sudoku

X points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Each outlined
region is marked by
thick borders.

Irregular
Sudoku

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Each outlined
region is marked by
thick borders.
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5/9(3[4|7]|2|6/8]1
9/6(5/2|4]|1/3|7]8
718/1/3]9|4|5|2|6




Toroidal
Sudoku

X points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Some of the
outlined regions
wrap between the
top and bottom
edges, and/or the
left and right edges
of the grid.

Toroidal
Sudoku

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Some of the
outlined regions
wrap between the
top and bottom
edges, and/or the
left and right edges
of the grid.
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Scattered
Sudoku

X points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region.
Grey cells are not
part of any regions.

Scattered
Sudoku

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region.
Grey cells are not
part of any regions.
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Deficit
Sudoku

X points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row and column.
Digits should not
repeat in the
outlined regions.

Deficit
Sudoku

X points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row and column.
Digits should not
repeat in the
outlined regions.
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Instructionless 1-9

X points



